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9% WEES P T Q T & dwfamwr 4
T@IEUH G | ; \
Two sets P and Q arc shown in the adjoining 9

Venn-diagram,

(@) IIGHEATS IATfad TR |

Define subset. | [1]
(@) HHE P & IA94wh IUHHE ey |

Write an improper subset of set P, [1]
1) AfE THE P ATE 7% WIS a ¥ e S & W P Q FE

FHE FO, FROTHIeT TETEr |

If two elements a and e are removed from set P, then what

types of'sets are P and Q ? Write with reason. [1]

= digda 4 7 20,000 TCH TS
AT 15 % B2 a9aH |
Sundar sold a Piano of marked price
Rs. 20,000 at 15'% discount.
@) GZ WA (D %) T Afghd T4 (MP) HU@T HTHAH Ge
TR HA E, 7 f
How much is the discount amount of the article whose
marketed price is MP and discount percentage D % ? [1]
@) I [Tara famy e aar aENE |
Find the selling price of the piano, (1]
ar 3 UM 20 % "remr afbu® w9y w5y H IaT
AT | ;
['the piano is sold at 20 % loss: find (he ¢yt price 2]




(o) afy e AfwE WC AR AT urey F gd ZEs ¢ AT
frrepregere |
If the discount was not allowed, then what would be the
profit or loss ? Find in percentage. [2]

% 5S040 =TS 5 AT F 2520 HAT |
The interest on Rs5040 in 5 years is Rs 2520.

(@) fremem (A) T @far (P) 3UusT yF=arar QIR 2ATA O

TS T Aeferq |

Write the formula to find the simple interest if the amount

(A) and principal (P) are given. [1]
(@) =T & 991 @meTerd | Find the rate of interest. [2]

(1) T AT |lAT T AT AT BT ! BROF(6A A2 |
In how many years the principal and interest are to be
equal ? Write with reason. [1]

FHTHT FAATAT 2075 T FETATEH faeaTee S |

There are 2075 lemon plants in Numa's garden.
(%) Ith [qeaTel TGRS I1TF HHaHl AeTare |
Write the number of plants in scientific notation. [1]
@) afe UFer e ger ¥ 70 W P w s wer o
AMSTRIA |
If the cost of one plant was Rs 70, then find the total cost. !’
() I (a7aTdT T TN Wen TG S TR

Express the number of plants in quinary number system. (2]

Fera AT ZERUATAR U3er 42 m S SO
RIER FEAAT 20 maers 7 10 m 9eg
U] ATAATER TG FATSTH B, |

As shown in the figure, inside a circular
ground having diameter of 42 m, a
rectangular pond having length of 20 m
and breadth 10 m is ma e.

20m
42 m

10|m




(@) WEAF AAE e o ereer] |

Write the formula to calculate the area of pond. [1]
(@) FATFR WIAH AR Ff g8 1 UHT SRR |
What is the area of the circular ground ? Find it. (1]

). NEdEATEEE AZTAHT AH T ATIRIA |

Find the arca of the remaining ground excluding the

pond. 2]
(q) afe qrafiEres W At Aren 9id a9 frer 3 25 @
A TEA TG ILAT FleT @ A 7

How much will it cost to planting dubo at the rate of Rs 25
per square meter in the remaining part of the ground ? [1]

(@) x% — y? @1 fqwaiva ¥9 qeqerg |

Write the expanded form of X2 — y2. [1]
. \ a+b by btc €\ C+a
(&) F TR | Simplify: (::'r;) X (i—c) X (;5) [2]

THIF x2 — 7x + 12 = 0 0 &
An cquation x? — 7x + 12 = 0 is given.
(@) feguar e feft T g 7 s
What is the degree of given equation. Write it. [1]
(@) x B AT FlaHd 82T X2 — Tx + 12 BT A ST GTa
T 7
For what values of x, the value of x2—7x+ 12 is
zero? [2]

(F) feguar sfqersaaar Wewn quvEdd (F.9) TH1 dSTe |
Find the highest common factor (HCF) of the given

expressions,
2a* — 9a + 10 and 5(a — 2) 12]
@) q7d THErY | Simplify: B-2) _ (p-2) [2]

(p+2)  (p*-4)
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diw Fermr P YamEvEEs LM f

TPQ®E ABW Fu: ETF W ? y

wt=e TR o | e s

T E TOHREH JAT AR | b

In the adjoining figure, AB ,__F - 2 3>—a
intersects straight lines LM and /

PQ at points E and I respectively. B

Observe the figure and answer the following questions.

(%) U WATST AT [T FRTH 19 defeld |

Write the name of a pair of co-interior angles. [1]
(@) x BT A TAT A | Find the value of .. (2]

(ﬂ)dMEGﬁmmﬁfmmﬁz@mw'

()

(d)

()

LM T PQ HATAT=RR & 7
At what value of £ MEG, the given line segments LM and
PQ will become parallel ? [1]

TP THTE 6 AT, 9THN T PQRS & AT THEI |
Construct a square PQRS having length of side 6 cm. [3]
g FT9r ABCD TSl FHMATR D : c
T &1 | AABD = ABCD 7= S+t

qRIfOT AT |

In the adjoining figure ABCD is a
parallelogram. Then prove that:

AABD = ABCD (2]

Y

USel THeg fafHa ey 7 aies e ade ) 3
O S,

A tessellation is formed by the regular octagons and squares
then write the type of tessellation. [1]



@) afz fegusEr s ABC =1
A e B # fem feafa ,
075° @ 99 B AIE A #
mmﬁm,w ' : ' ot
In the given A ABC, if the 11 1T
bearing of the point B from TLL
the point A is 075° then, [ T e
find the bearing of point A~ R
from B. 2]

1) rarterEHT frguat ras ABCHIE y — HeTHT WRTFT Targ
Reflect the AABC which is given in the graph paper on the
y — axis and write the coordinates of the vertices of image
of the triangle so formed. , (3]

12. Far § & 10 47 faandizs=r IH7 quwr a« €3 g )
The ages (in years) of 10 students of grade 8 are given below.
13, 14,12, 14,13, 14, 13. 12, 14, 16

(F) ANAF TaEES T Fa gwg, TETan |
What is the mode of the above data ? Write it. [1]

@) wiger TongFar [Gunder e R @) aw

ERICEEGR _
Find the average age in years of the students from above
data. (2]

BEST OF LUCK



